Factor the polynomial.
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16%° — 6X

27X% + 24X

20%° + 4x

[A]
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2 1] [B] 22 + 2x] [C] NI 2x [D] NI A
- 2q [B] x- %l [C] XX — 2x] [D] X0 - x|
x| [B] - [l X[ — ax] [D] x3b1—4xg
XX — 4x] [B] x°(1- !l [C] x5b1—4xg [D] XX — X
(1 5l [B] 0 — [C] - 5] [D] x(x° - 5]
x2b1—7xg [B] 20X — X [C] (1 %] [D] (X — 7x]
x2(x — 2x] [B] X202 — ] [C] x2b1—2xg D] x¥{1- N
1+ %] [B] (X + 4x] [C] x3b1+4xg [D] 0 + X
- x| [B] X2 — 2] [C] 02—l [D] x5b1—2xg
[A] xh12x+1sg [B] 27x® [C] 12x+15 [D] 3xb4x+5g
[A] xb30x—2sg [B] 30x—25 [C] 5x [D] 5xb6x—5g
[A] xh14x+sg [B] 14x+8 [C] 2xb7x+4g [D] 22x3
[A] 10x [B] xb16x—6g [C] 2xb8x—3g [D] 16x-6
[A] 51¢ [B] xb27x+24g [C] 3xb9x+8g [D] 27x+ 24

[A] xb20x + 4g [B] 20x+4 [C] 24x° [D] 4xb5x +]g



Factor the polynomial.

16. 15x2 +30x [A] 15xbx+zg [B] 45x° [C] 15x+30 [D] 15x + 30]
17. 12%° +6X [A] 18%° [B] xb12x+6g [C] 12x+6 [D] 6xb2x+Jg
18. 28x*—32x [A] xb28x—3zg [B] —4x [C] 28x-32 [D] 4xb7x—sg
19. 10x*+ 35X [A] 5xl2x+ 7| [B] 10x+35 [C] 45%° [D] 10x + 35

20. 35x3 —25x° + 20X

21.  21x° —49x° + 14X

22, 20x° —12x° + 24x

23.  15x°—18x°+ 21x

24. 36x° —42x% + 30X

25.  14x3 —4x* + 6x

26. 12x° —30x® +42x

27. 21x° —-15x° + 6X

28.  21x*-28x* +21x

29. 16x° —28x° + 20x

30. 40x-15



Factor the polynomial.

31. 8x+24
32. 6x-16
33. 15x+21
34. 45X+5

Factor the polynomial completely.

35. W -8w+16
[A] bw+zlg2 [B] bw—4g2 [C] bw—4gbw+4g [D] bw—lBQbWHg

36. r’+4r+4

[A] br—zg2 [B] br+2g2 [C] br+2gbr—zg [D] br—4gbr +1

37. k*+10k+25

[A] bk—sg2 [B] bk+5gbk—sg [C] bk+5g2 [D] bk—25gbk+1g

38. f?-12f +36

[A] hf—6g2 [B] bf—6gbf+6g [C] bf+6g2 [D] bf-369bf+1g

39. b*+6b+9

[A] bb+3gbb—39 [B] bb—3g2 [C] bb—9gbb+]g (D] hb+3g2

40. n*+4n+4

[A] bn+29bn—zg [B] bn—zg2 [C] bn+zg2 [D] bn—4gbn+]g



Factor the polynomial completely.

41. j*+10j+25

[A] hj—zsgbj+Jg [B] hj—5g2 [C] bj+sgbj—59 [D] hj+5gz
42. c®+6c+9 [A] hc—3g2 [B] bc+3g2 [C] hc+3gbc_3g [D] bc_ggbc+]g

43. y*+12y+36

Al ly-sely+q @1 ly-ef  [cly+ef o1 Dy+elly-e

44. ' -8m+16
[A] bm—4gbm+4g [B] bm—lBQbmHg [C] hm—4g2 D] hm+4g2

45. 100x* —180xy + 81y”
[A] h10x+9yg2 [B] blox—gygb10x+ 9]

(] h00x— 9ygbx +y] D] [1ox- 9y(f

46. 64x*—80xy + 25y*

2

[A] b64x— 5ygbx + 5yg [B] h8x+ 5yg2 [C] b8x— 5ygb8x + 5yg [D] h8x— 5yg

47. 81x* +36xy + 4y’

[A] b9x+2ygb9x—2yg [B] lox + 2 [C] b81x+2ygbx—2yg [D] ng—zyg2

48. 25x° + 40xy + 16y?
[A] b25x+4ygbx—4yg [B] b5x+4ygb5x—4yg [C] h5x+4ygz [D] h5x—4yg2

49. 16x° + 24xy +9y?
[A] D + 3ygb4x -3y] (8] hex+ 3ygbx -3y [C] ax - 3y [D] D + 3y[f



Factor the polynomial completely.

50. 64x*+112xy +49y®
[A] be—?ny2 [B] b8x+7yg2 [C] b64x+7ygbx—7yg [D] h8x+7ygb8x—7yg

51. 49x* +112xy +64y”

[A] b7x+8ygb7x—8yg [B] h7x+8y92 [C] h?x—8yg2 [D] b49x+8ygbx—8yg

52. 9X*+12xy+4y?
[A] ax+ 2 (8] lox + 2ygbx -2y [C] Dax - 2y (D] lax + 2ygb3x -2y

53. 4qg”-20qr + 25r?
54. n7 -4mn+4n’

55. 16p*—56pqg-+49q°
56. 25s°—10st +t°

57. 9t*—30tu+ 25u°
58. a?—4ab+ 4b’

59. 25d°-30de+9¢’
60. 25¢ —70ef +49f?
61. X*—2xy+ Y’

62. 25u®—40uv +16v>



Factor the polynomial completely.

63. 25x*>—70x+49

64. 4x*+12x+9

65. 9x° +48x + 64

66. 25x>—10x+1

67. 4x*+36x+81

68. 9x°+30x+25

69. 25x*+60x+ 36

70. 16x°+56x+49

71. 25x*—80x+ 64

72. 16x°+8x+1

73. x*-1
[A] (X+D(x+1) [B] (x+1)(x+2) [C] (x+D)(x-12) [D] (x—=D(x-1)

74, x*-121
[A] (x+11)(x-9) [B] (x+11)(x+11)
[C] (x—11)(x—11) [D] (x+11)(x—12)



Factor the polynomial completely.

75.

76.

77

78.

79.

80.

81.

82.

83.

x? —144
[A] (x+12)(x+12)
[C] (x+12)(x—12)

x* — 49
[A] (X+7)(X+7)

x*—16
[A] (x—4)(x-4)

x* — 64
[A] (Xx-8)(x-8)

X —4

[A] (Xx+2)(x-4)

x*—169
[A] (x-13)(x—13)
[C] (x+13)(x-11)

x*—81
[A] (x+9)(x—11)

x?—25
[A] (X+5)(x+5)

36x* — 25y°
[A] (6x+5y)°

[B] (x+7)(x=9)

[B] (x+4)(x-4)

[B] (x+8)(x—-8)

[B] (x+2)(x+2)

[B] (Xx+9)(x-9)

[B] (x+5)(x—-3)

[B] (6x+5y)(6x—5Y)

[B] (x+12)(x—14)
D] (x-12)(x-12)

[Cl (x+7)(x=7)  [D] (X=7)(x=7)

[C] (x+4)(x—6) [D] (x+4)(x+4)

[C] (x+8)(x+8) [D] (x+8)(x—6)

[Cl (x+2)(x=2)  [D] (x=2)(x-2)

[B] (x+13)(x+13)
[D] (x+13)(x—13)

[Cl (x+9)(x+9)  [D] (x-9)(x-9)

[Cl (x=5)(x=5)  [D] (x+5)(x-5)

[C] (6x-5y)? [D] (6x+5)(6x—5)



Factor the polynomial completely.

84. 25x*-64y°

[A] (5x+8y)* [B] (5x+8y)(5x—8y) [C] (5x-8y)? [D] (5x+8)(5x—-8)

85. 16x°—9y?

[A] (4x+3)(4x-23) [B] (4x+3y)(4x—3y) [C] (4x-3y) [D] (4x+3y)*

86. 81x%—16y?

[A] (9x-4y)*> [B] (9x+4y)(9x-4y) [C] (9x+4y)> [D] (9x+4)(9x—4)

87. 64x*—49y?

[A] (Bx+7)(Bx-T7) [B] (8x+7y)* [C] (Bx+T7y)(8Xx—-T7Y) [D] (8x-7y)?

88. 49x° —25y?

[A] (7x+5y)? [B] (7x-5y) [C] (7x+5)(7x-=5) [D] (7x+5y)(7x-5y)

89. 4x*-8ly*

[A] (2x+9y)? [B] (2x+9)(2x-9) [C] (2x+9y)(2x—-9y) [D] (2x-9y)?

90. 25x° —9y?

[A] (5x+3)(5x—3) [B] (5x+3y)(5x—23y) [C] (5x+3y)? [D] (5x-3y)?

91. 81xX° 49y’

[A] (9x+T7)(9x-T7) [B] (9x+7y)* [C] (9x+T7y)(9X—-T7Y) [D] (9x-7y)?

92. 64x* -25y?

[A] (8x+5)(8x-5) [B] (8x-—>5y)? [C] (8x+5y)? [D] (8x+5Yy)(8x—5y)

93. 81x*-64



Factor the polynomial completely.

94.

95.

96.

97.

98.

99.

100.

101.

102.

4%? - 25

49x* -9

25x% - 16

100x* — 49

36x*-25

4%* -9

49x° — 36

9x* —16

25x% — 49



